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QUESTION 1

Select two suitable statements about the BSD license from below.

A. If you make changes to the source code, feedback must be sent to the original developers.
B. It is used by open source software.

C. User registration is required.

D. It is defined by Free Software Foundation, Inc. (FSF).

E. Software under the BSD license can be incorporated with any programs provided that the copyright notice appears in
all copies.

Correct Answer: BE

QUESTION 2

Select two appropriate statements from below about the following SQL statements: CREATE FUNCTION
myfunc(INTEGER) RETURNS text LANGUAGE plpgsgl STRICT AS \\' DECLARE x ALIAS FOR $1; r text :=
\\VWdefault\'\\'; BEGIN IF x > 100 THEN SELECT INTO r data FROM mytable WHERE id = x; END IF; RETURN r;
END;\\V;

A. An error is generated unless the plpgsql language is registered in the database beforehand.

B. The execution results of SELECT myfunc(-123) differs based on the content of "mytable”.

C. When SELECT myfunc(123) is executed an error occurs.

D. When SELECT myfunc(NULL) is executed an error occurs.

E. When SELECT myfunc (0) is executed the text "default” is returned.

Correct Answer: AE

QUESTION 3

The following table called company is defined as follows:

id | name

L LR e 1| Pgsql,inc.

2 | Postgres Co.,Ltd

3| SQL Company.

Select the most appropriate psql command for generating a text file company.txt with the following content

on the client side.
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1,Pgsql \,inc.

2,Postgres Co. \,Ltd

3,SQL Company.

A. \copy company TO \V'company.txt\\' WITH \\',\\';

B. \copy company TO \\company.txt\' WITH DELIMITER AS \\',\\';
C. \copy company TO \Wcompany.txt\\' DELIMITER \'\\

D. \copy company TO "company.txt"

E. \copy company TO company.txt CSV

Correct Answer: C

QUESTION 4

The "sample" table consists of the following data. How many rows are returned by executing the following SQL
statement?

SELECT i FROM sample GROUP BY i;
A. 1 row

B. 2 rows

C. 3rows

D. 4 rows

E. 5 rows

Correct Answer: C

QUESTION 5

The following SQL statements were executed using psql. Select the appropriate statement about the
result. LISTEN sign_v;

BEGIN;

NOTIFY sign_v; COMMIT; LISTEN sign_v;

A. At the point that WNOTIFY sign_wv\\' is executed, a message that starts with "Asynchronous notification \\'sign_wv\\'
received" is output.

B. At the point that \'\COMMIT\\" is executed, a message that starts with "Asynchronous notification \\'sign_wv\\' received"
is output.
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C. At the point that WSELECT * FROM pg_user;" is executed, a message that starts with "Asynchronous notification
\\'sign_v\\' received" is output.

D. When \WLISTEN sign_v\\' is executed for the second time, a message that starts with "Asynchronous notification
\\'sign_v\\' received" is output.

E. The message "Asynchronous notification \W'sign_w\\' received" is not received while in this connection.

Correct Answer: B
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